ZAREHO RS R

1) z=8, y=12 (2) z=4, y=14 (1) 6cm (2 7cm
(1) AD : DB=AE: EC (1) AB/DCTH2m5
12:6=z:14 AE:EC=AB:DC=9:18=1:2
6z =48 koT CE:CA=2:3
koT z=8 EF/ABTH5h5
¥7 AD:AB=DE:BC CE:CA=EF:AB
12:(12+6)=8:y 2:3=EF:9
12y =144 3EF=18
£oT y=12 UZ=h3->T EF=6 cm
2) AD : AB=DE: BC (2) BF:FC=AE:EC=1:2»6
3:2=6:8 BF: BC=1:3
b 6:? koT BF=%BC=%X21
%7 AE:AC=DE:BC =7(cm)
6:(y—6)=6:8
6y —6)=48
y—6=28
£oT y=14

x=6, y:l—g4
AD : AB=DE : BC
9:9+2)=6:10
6(9+2)=90
6x +54=90
6x =36
E-T z=6
EJd AD : DB=AE : EC
9:6=7:y
9y =42
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